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QUESTION  1 
When writing new App in Tropo, in what format should the App Script be saved/ 

 A. .xml 
 B. .json 
 C. .js 
 D. .mp4 

Answer: C 

 

QUESTION  2 
Which layer of the OSI model is associated with the reliable transmission of datagrams? 

 A. Datagram 
 B. Routing 
 C. Network 
 D. Data link 
 E. Transport 
 F. Transmission 
 G. Session 

Answer: E 

Explanation: 
http://en.wikipedia.org/wiki/Transport_layer 

 

QUESTION  3 
Which system users intelligent Audio to cancel out background noise? 

 A. DX70 
 B. DX80 
 C. Spark 
 D. Jabber 

Answer: B 

 

QUESTION  4 
What layer of the OSI Model provides the logical addressing that routers use for path determination? 

 A. transport 
 B. network 
 C. application 
 D. presentation 

Answer: B 

 

QUESTION  5 
Which Cisco UCS power policy mode enables a configuration that can tolerate the loss of an input power circuit? 

 A. nonredundatnt 
 B. Grid 
 C. N+1 in normal mode 
 D. N+1 in high-density mode 

Answer: B 

Explanation: 
Grid Redundant (N+N) – below: The purpose of the grid redundant mode is to enable a configuration that can tolerate the loss of 
either a power supply or a input power circuit. In grid-redundant mode the system can withstand the loss of any two power 
supplies. The Figure 5 shows the required wiringScheme for Grid Redundant power where N=2. 

 

QUESTION  6 
Which statement about the HSRP protocol is true? 

 A. Multiple routers in an HSRP group are in an active state, to enable round-robin load balancing of traffic 
 B. In Cisco NX-O 
 C. HSRP is configured to pre-empt by default 
 D. HSRP version 2 is an open standard protocol that is described in RFC 2281 
 E. One router in an HSRP group is in an active stat 
 F. All other routers are in a standby state or listening state 

Answer: C 
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